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Oxidation of pyruvate to Acetyl CoAl a5 Sl ) @l g yu) Bawsi 2
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after pyruvate is oixidized the citric acid cycle completes the energy-
yielding oxidation of organic molecules
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Citric acid cycle (tricarboxilic acid cycle, Kreb’s cycle)
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* The detailed reactions in this stage are ....
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*The rest of energy comes from electrons in NADH + FADH, and from another
carriers .. Cytochromes ... released in electron transport chain with the
production of H,0O
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An account of ATP production by cellular respiration
* The final result 1s about 36 or 38 ATP (each 1 NADH =2 ATP)
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9.6 Glycolysis and the citric acid cycle connect many other metabolic
pathways in what is called metabolic pool
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metabolic pool ........

These pathways are reversible ~wss... slimming and obesity.
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